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Client Dispatcher Application Servers
job1 RR LC |[Server1..4|compoent 1 job1
EL LL
job2 4 compoent 2 job2
job3 compoent 3 job3
iob4 compoent 4 job4
job5 compoent 5 job5
job6 compoent 6 job6
job7 compoent 7 job7
job8 compoent 8 job8
job9 compoent 9 job9
job10 compoent 10 job10
job11 compoent 11 job11
job12 compoent 12 job12
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( 10 ) 832
Poisson
CV(Coefficient of Variance) 1 12 2 Gamma
2
3
cv=+var mean
cv=1, 1=V //// 1::;?/ a=1
Noar
cv=2, a=1/4
cv=1/2,a=4
2 22
inh1 | ioh? | ioh3 | inh4 | ioh5 | ioh6 | ioh7 | ioh8 | inh9 |iah10]ioh11 [inh12

1 42| 20 5 3| 35/ 20 10 20/ 30 20/ 10 8
2 30, 30 10/ 30 5 5 5 5 30| 25 10| 15
3 26| 28 9 19| 26| 28 26| 14 10| 24| 28] 40
4 15[ 10 5 5 20 10 5 10 10/ 10 5 8
5 5 5 3 3 5 5 5 5 10 10 310
6 5 30 10/ 30 5 5 3 3 320 3 23
7 15 15 5 30 15/ 15 5 10 15[ 15 530
8 20 10 3 6 3 2 2 2| 20 10 5 14
9 30 15 5/ 20 15| 20 5 5| 25| 25 10 20
10 1 1 1 1 5 5 5 5 5 5 1 9
11 10 5 3 2| 20l 20 20 5 10 10 3 6
12 60 12 30 30| 15 10 5 6| 15 20| 10| 55
13 20 60 10/ 15 10 5 5 10| 20| 50 20| 40
14 10 5 5 5 1 1 1 1 2 2 2 4
15 25 25 5 35 30 25 5 15| 10| 30| 25/ 45
16 15 12 3 20| 10 5 2l 10 5 15 2| 45
17 20, 10 5 30| 10 5 3 3 5 20| 10| 45
18 30 25 5 10 20/ 10| 10/ 10| 30 10 5 15
19 10 40 5 20 2 5 2 10 2 5 2 20
20 20 20 10/ 50 10| 10 5 5 5 20 5 40
21 10 20 330 5 5 3 10| 10/ 15 2| 40
22 15| 16 3l 200 15/ 15 5 20 510/ 10/ 40




Gamma(a,B)

Cv=1

Cv=2

Cv=1/2
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Job3
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1,11.497)
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(Request Size)

(Kbytes)

(Kbytes)

Job1 ~ Job4

21.324

39.714

N(21.324,39.741)

Job5 ~ Job8

1.066

2.126

N(1.066,2.126)

Job9 ~ Job12

7.475

12.164

N(7.475,12.164)
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(1)

® CPU Pentium4-1.4Ghz

® RAM 512MB RDRAM

® HD 7200RPM ATA100

(2)

)

[ Windows 2000 Professional

° Microsoft SQL Server 7.0

() GBA V1.4(

° Microsoft SQL Server 7.0 — Profiler
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Job Size
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( )

Kbytes)

Job1
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—_—
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2.013

3.130] 1.877
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Job Size

Service Time

(

)

Kbytes)

Job5

Job6

Job7
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—_

0.576

0.110

0.010

0.010

0.010

0.864
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0.010

0.010

0.010

1.1562
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0.010

0.010

0.010

1.440
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0.010

0.010

0.010

1.728
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0.010

0.010

0.010

2.016
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0.010

0.010

0.010
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0.010

0.010

0.010
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0.000

0.000
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Job Size

Service Time

(

)

Kbytes)

Job9

Job10

Job11

Job12

0.68

0.56

0.89

0.86

0.970

3.156

0.76

1.36

1.103

1.400

5.632

0.893

2.133

1.24

2.310

8.108

1.153

3.133

2.18

2.853

10.584

1.17

3.757

3.094

3.064

13.06

1.57

4.023

3.52

3.263

15.536

2.187

4.137

4.41

4.554

18.012

2.35

4.421

4.96

4.974
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20.488

2.47

4.922

5.423
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22.964

2.663

5.696

6.523

6.320

0.371

1.048

0.237

0.708

0.102

0.203

0.262

0.242

0.157

0.349

0.273
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3.3

8
8
1 1 Gamma(cv=1) RR
2 Gamma(cv=1) LC
3 Gamma(cv=1) EL
4 Gamma(cv=1) LL
2 5 Gamma(cv=2) RR
6 Gamma(cv=2) LC
7 Gamma(cv=2) EL
8 Gamma(cv=2) LL
3 9 Gamma(cv=1/2) RR
10 Gamma(cv=1/2) LC
11 Gamma(cv=1/2) EL
12 Gamma(cv=1/2) LL
Promodel
1. 12
1  Task Dispatcher Promodel
9
9 Location
Location
Name Capacity |Unit |Statistics Rule |Cost
Job Class1..12 1 1|Time Series |Oldest
Dispatcher 1 1{Time Series |Oldest
AP_Server1..4 Infinite 1{Time Series |Oldest

Location



Job Class1 12
Promodel Arrival Promodel
Task Dispatcher Arrival 10
10 Arrival
Arrival
Entity Location Quantity each | Occurrences Frequency
Job1 |Job Class1 1 Infinite G(1,10.967)SEC
Job2 [Job Class?2 1 Infinite G(1,11.497)SEC
Job3 |Job Class3 |1 Infinite G(1,33.284)SEC
Job4 |Job Class4 |1 Infinite G(1,11.497)SEC
Job5 |Job Class5 |1 Infinite G(1,16.878)SEC
Job6 |Job Class6 |1 Infinite G(1,20.604)SEC
Job7 |Job Class7 |1 Infinite G(1,34.742)SEC
Job8 |[Job Class8 |1 Infinite G(1,25.867)SEC
Job9 |[Job Class9 |1 Infinite G(1,17.183)SEC
Job10 [Job Class10 |1 Infinite G(1,12.829)SEC
Job11 |Job Class11 |1 Infinite G(1,27.043)SEC
Job12 [Job Class12 |1 Infinite G(1,8.321)SEC
(1) (Job Size) Att_Ent Size Job
Promodel 4
(2) Att Ent MRT Est 5 6
EL
Att_Ent MRT_Est = + ( * Att_Ent_Size)

3)

Att_Ent MRT




Att_ Ent MRT = + ( * Att_Ent_Size) + Normal(0, )

Arrival
Task Dispatcher
(1)RR Promodel Route Rule By turn
RR
(2)LC Task Dispatcher (Process)

Server_Load(N)= Var_Server_Conn(N)

Server_Load(N) N
Var_Server_Conn(N) N
(3)EL Task Dispatcher (Process)

Server_Load(N)= Var_Server TMRT_Est(N)

Server_Load(N) N
Var_Server_TMRT_Est(N) N
(4)LL Task Dispatcher (Process)

Server_Load(N)= Var_Server TMRT(N)
Server_Load(N) N

Var_Server_TMRT(N) N



(1)

Var_Server TMRT(N) = Var_Server TMRT(N) + Att_Ent MRT
Var_Server_TMRT_Est(N)=Var_Server_ TMRT_Est(N)+Att_Ent MRT_Est
(2)

USE Res_Server(N) for Att_Ent_ MRT

3)

Var_Server_ TMRT(N) = Var_Server TMRT(N) - Att Ent. MRT

Var_Server_TMRT_Est(N)=Var_Server TMRT_Est(N)-Att_Ent MRT_Est

Promodel

4 Arrival
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